Comprehension Test 3
I. a) Open the brackets and use the right Active Voice tense form.
1. The boy (to refuse) to admit that he (to break) the window. So the teacher (to send) him home to bring his parents to school.

2. Look, it (to get) late. I (to miss) the ten o'clock train if! (not to hurry). Jack said he (to come) to pick me up. I don't know why he (not to appear) yet. Perhaps he (to get) into the traffic jam.

3. Yesterday Tom and Janice (to go) to the zoo. They had an adventure there. While they (to walk) by the giraffe, it (to begin) to chew Janice's hat.

b) Choose the right variant.
1. I don't understand this sentence. What
 … ?
a. does mean this word    b. does this word mean    c. means this word
2.
It was a boring weekend … anything.
a. I didn't    b. I don't do    c. I didn't do
3.
You are out of breath … ?
a. Are you running    b. Have you run    c. Have you been running
4.
We are good friends. We … each other for a long time.
a. know    b. have known    c. have been knowing
5.
Sally has been working here …
a. for six months    b. since six months    c. six months ago
6.
Ian … in Scotland for ten years. Now he lives in London.
a. lived    b. has lived    c. has been living
7. … a car when they were living in London?
a. Had they    b. Were they having    c. Did they have
8.
We are late. The film … by the time we get to the cinema.
a. will already start    b. will be already started   c. will have already started
9.
That evening I … a letter when I … dinner.
a. received, was having    b. received, have been had    c. was receiving, had
10.
He … the city he … before his marriage.
a. had remembered, had known    b. remembered, had known    c. remembered, knew
II. Render into Passive Voice (Use Indefinite Tenses).
1. Chinese (to speak) in Singapore.

2. The Taj Mahal (to build) around 1640.

3. The new hospital (to open) next year.

4. Passengers (to ask) not to speak to the driver.

5. Liverpool (to beat) by Manchester 3-0 yesterday.
III. a)Translate the sentences with modal verbs and their equivalents into Russian.
1. He could come yesterday. 2. Are they able to help you? 3. He said that we might go to the beach alone. 4. Don't call him. He must be busy. 5. Hope, we will not have to talk about it again. 6. He was to start this Monday, 7. You should not forget about this promise. 8. When I was a child, I was allowed to read late in the evening.
     b) Translate the sentences with different gerund forms.
1. Little David couldn't bear reciting his lessons in the presence of his stepfather and Miss Murdstone. They frightened him so that he couldn't help making mistakes though he tried hard to avoid displeasing them and being scolded. 2. The girls were busy packing when one of them suddenly remembered having left the milk on the stove which was probably boiling over. 3. I clearly remember locking the door. 4. He can remember being in hospital when he was four. 5. Would you mind closing the door?
IV. Choose the correct variant.
1.        A. Did you see the film on television ... (1) ? B. No, we ... (2) to see some friends. We ... (3) very late.
A.
Why? What... (4)?
B.
There weren't... (5), so we walked and it took two ... (6).
1.
a. at night
4. a. did happen
b.
in the night
b. have happened
c.
last night
c. happened
d.
tonight
d. has happened
2.
a. went
5. a. some bus
b.
had gone
b. some buses
c.
did go
c. any bus    *
d.
gone
d. any buses
3.
a. get home
6. a. hours
b.
got home
b. hour's
c.
get to home
c. clock
d.
got to home
d. clocks
2. A. Where is Brighton?
B. It's on the South coast... (1) England.
A.
How many kilometers .., (2) from London?
B.
About 80 kilometers. You can go ... (3) train.
A.
How ... (4) time does it take?
B.
About 55 minutes.
l. a. to
3. a. by
b.
of
b. on
c.
in
c. in
d.
to
d. with
2. a. is there
4. a. much
b.
are there
b. many
c.
is it
c. long
d.
are they
d. far
